Baguet
TS E@CLADDING

Revision: 08/2020

hfttps://www.ecocladding.com/ Page: 01



https://www.ecocladding.com/

Elevation, section and floor plan

CLADDING

[E]

BEEBEEEEBEBB

0@0

@

0@0

@

0@0

@
L

0@0

2"x2" Baguette section

@

0@0

@

pg.03

2"x4" Bagquette section

i
3 =
\_ e \_ Verta i \
\ Edge Vertical joint Outer corner
pg.05 pg.06 pg.07

pg.0k4

Revision: 08/2020

https://www.ecocladding.com/ Page: 02



https://www.ecocladding.com/

2"x2" Baguette section

CLADDING

Condition 1

2II

Condition 2

2II

i

A

A
/

A N
V/ Y [ \\ = \/N\\ Vah)
\ ! / / \;,///j o~ W % J
U N = U X
L / & /
g“ }” g“ 2” 1“ 2”
16 8 16 16 8 16
1 |2'x2" Baguette 6 |Fixing bracket, mil (B-03-122) 11 | Baguette holder left, mill (B-03-213)
2 | 2'xk" Baguette 7 | Countersunk screw M5x22 12 | Threaded rod M5
3 |Fin-outrigger 3/8" 8 | Countersunk screw M5x16 13 | Washer M5
L |Cover cap, black anodized (F-03-131-8) 9 |Baguette holder, mil (B-03-210)
5 | Fixing bracket, mill (B-03-121) 10 |Baguette holder right, mill (B-03-215)

Revision: 08/2020

https://www.ecocladding.com/

Page: 03



https://www.ecocladding.com/

2"xL" Baguette section

CLADDING
Condition 1 Condition 2
2 n 2 n
e D N
Gl &
1 i n i
.7//\ i / \\ = .\‘ ) A =
N\ IS //J -~ \% \Nwj \J -
U § U N
) )
N ) Ne v
2” zll 2” 2” z” 2”
16 8 16 16 8 16
1 |2'x2" Baguette 6 |Fixing bracket, mil (B-03-122) 11 | Baguette holder left, mill (B-03-213)
2 | 2'xk" Baguette 7 | Countersunk screw M5x22 12 | Threaded rod M5
3 |Fin-outrigger 3/8" 8 | Countersunk screw M5x16 13 | Washer M5
L |Cover cap, black anodized (F-03-131-8) 9 |Baguette holder, mil (B-03-210)
5 | Fixing bracket, mill (B-03-121) 10 |Baguette holder right, mill (B-03-215)

Revision: 08/2020

https://www.ecocladding.com/

Page: 04



https://www.ecocladding.com/

Edge

CLADDING

1/2

=N

(w) [e] T
/

|

ol

—_
o
—_
o

1 |2'x2" Baguette 6 |Fixing bracket, mil (B-03-122) 11 | Baguette holder left, mill (B-03-213)
2 | 2'x4" Baguette 7 | Countersunk screw M5x22 12 | Threaded rod M5

3 | Fin-outrigger 3/8" 8 | Countersunk screw MSx16 13

L |Cover cap, black anodized (F-03-131-8) 9 |Baguette holder, mil (B-03-210)

5 | Fixing bracket, mill (B-03-121) 10 |Baguette holder right, mill (B-03-215)

Revision: 08/2020

https://www.ecocladding.com/

Page: 05



https://www.ecocladding.com/

Vertical joint

CLADDING

Nah (V2 9 B 4 E/V?

el
/
[
|
[
| N

-

)

dib
A

3" 5" 3" 5" 3"
16 16 8 16 16
1 |2'x2" Baguette 6 |Fixing bracket, mil (B-03-122) 11 | Baguette holder left, mill (B-03-213)
2 | 2'x4" Baguette 7 | Countersunk screw M5x22 12 | Threaded rod M5
3 |Fin-outrigger 3/8" 8 | Countersunk screw M5x16 13 | Washer M5
L |Cover cap, black anodized (F-03-131-8) 9 |Baguette holder, mil (B-03-210)
5

Fixing bracket, mill (B-03-121) 10 |Baguette holder right, mill (B-03-215)

Revision: 08/2020 https://www.ecocladding.com/ Page: 06



https://www.ecocladding.com/

Outer corner

CLADDING

Ry 0o

450

\

1/2

|
e
1 |2'x2" Baguette 6 |Fixing bracket, mil (B-03-122) 11 | Baguette holder left, mill (B-03-213)
2'xk" Baguette 7 | Countersunk screw M5x22 12 | Threaded rod M5
Fin-outrigger 3/8" 8 | Countersunk screw M5x16 13 | Washer M5
9

Cover cap, black anodized (F-03-131-B)

Baguette holder, mill (B-03-210)

2
3
A
5

Fixing bracket, mill (B-03-121)

Baguette holder right, mill (B-03-215)

Revision: 08/2020

https://www.ecocladding.com/

Page: 07



https://www.ecocladding.com/

	Sheets and Views
	Baguettes-Cover
	Baguettes-Elevation
	Baguettes-2x2 Baguette section
	Baguettes-2x4 Baguette section
	Baguettes-Edge
	Baguettes-Vertical joint
	Baguettes-Outer corner


